PRACTICE QUESTION PAPER

Name: Class - 8 (Subject : English) Total Questions: 15
RollNo.: Put M in the correct box of the OCR sheet Time:1hr.
1.  Fillintheblanks-
Ramisa man and he helps the and needy people.
(A) rich, poor (B) poor,rich (C) rich,rich (D) poor, poor
2. Fillintheblanks-
Summeris........... and winter is
(A) cold, hot (B) hot, hot (C) cold, cold (D) hot,cold
3.  Fillinthe blank with the correct preposition:
Neenaiswearinga top.
(A) sad (B) five (C) red (D) family
4.  Fillintheblanks-
We all work hard we have to collect food for winters.
(A) but (B) because (C) and (D) or
5.  Choosethe option with the same meaning of the underlined word.
Diksha walked in the hot desert without water.
(A) leave (B) hilly place
(C) dryandsandyplace (D) forest
6. Choosetheoptionthat hasthe same meaning.
"Very strong and solid"
(A) simple (B) tough (C) nice (D) best
7. Rashmi atoyfor heryounger sister from the shop.
(A) made (B) bought (C) played (D) sang
8.  Thepathshouldbecrossed
(A) hurriedly (B) carelessly (C) sadly (D) carefully
9. Saritahastogotothevillage by bus, forthatshe will goto the
(A) railway station (B) busstation (C) port (D) airport
Library is a house of books. We can find many books in the library. It has chairs and tables. We can sit and
read there. We should not talk in the library. A person who works in the library is called as librarian. The
librarian gives us information about books. The library is very useful.
10. Thelibraryisa—
(A) house of books (B) house of medicines
(C) houseofplants (D) house of chocolates
11. Weshouldnot__ inlibrary.

(A) read (B) write (C) talk (D) noneofthese




Read the passage and answer the questions below:

Vatsal is in the garden. He sees a squirrel running on the grass. The squirrel goes behind a tree. It then
runs into a hole in the mud. Very slowly, Vatsal puts a mango outside the hole. The squirrel comes out
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13.

14.

15.

and eats the mango.

Where s Vatsal?

(A) behindatree (B) inahole
(C) inthegarden (D) nexttothebanana
What did he seeinthe grass?

(A) atiger (B) amouse
(C) asquirrel (D) anant
How did Vatsal put the mango outside the hole?

(A) running (B) walking
(C) slowly (D) jumping
What did the mouse eat?

(A) anapple (B) abanana (C) anorange (D) aMango




